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Subject: Economics Paper: | {(Microeconomic Theory) Time: 3 Hrs. Marks: 100

NOTE: Attempt any FOUR questions. All questions carry equal marks. Student must follow
the English Version of the questions Paper and attempt the paper in English only.

Q. No 1. Suppose the firms production function is given by
Q-12L-1?

For L =0 to 6, where L is the labour input per day and Q is the output per day.

a. Derive and draw the firm’s demand for labour curve if the firm’s output sells for Rs.
10 in a competitive market. e PRmse (10)

b. How many workers will the firm hire when the wage rate is at Rs 30 per day? (7)

¢. Why Is the firm’s demand for labour curve more inelastic when the firm has
monopoly power in the output market than when the firm Is producing
competitively? (8)

Q. No 2 Consider a lottery with three possible outcomes:
* Rs 125 will be received with probability 0.2
¢ Rs 100 will be received with probability 0.3
o Rs 50 will be received with probability 0.5
a. Whatis the expected value of the lottery and what would a risk neutral person pay to pay
the lottery? (8)
b. Aprisoner’s dilemma game is presented below:

Prisoner B
Confess Don’t Confess
Prisoner A Confess -5,-5 -1,-10
Don’t Confess -10,-1 -2,-2
I.  What Is the Nash Equilibrium and what Is the dilemma (problem) with this Nash
- equilibrium? - {7)
ii. What different strategies can be used to overcome this problem? (10)
Q. No3
a. Describe what happens to the price and quantity of a perfectly competitive firm in short
run if a new firm enters the Industry. (15)
b. Exhibit the long run equilibrium of perfectly competitive firm and how |s it different from
monopolistically competitive firm? (10)
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Q.No 4
a. Adiscriminating monopolist s selling a product in two separate markets In which demand
and cost functions are as under:

P, = 80— 25X,
Pz =180 — 10X2
And the cost function is:
C =50 + 40X
i, Find out the marginal revenue and marginal cost equations for each market. (6)
i Find out the equilibrium quantity and price for each market. (9)
b. Explain the concept of bilateral monopoly with the help of a diagram. (10)

Q. No 5 Company X produces soaps in the market.
a. If the price elasticity of a soap Is -0.5 and the income elasticity Is 1.4, explain the

characteristics of this product. (5+5)
‘b. Ifthetotal revenue is tobe increased of for the soap manufactured by company X, should
they increase their prices or decrease them? Explain your choice using graphs. (15)

Q. No6

a. With the use of Edgeworth production box, suppose that new invention changes the
constant returns to scale food production process into one that exhibits sharply increasing

returns. How does this change affect the production contract curve? (15)
b. How does utility possibility frontier relate to contract curve? (10)
Q. No 7 Write comprehensive notes on any of the two following: - (25)

a. Expansion Path
b. Marginal Rate of Technical Substitution (MRTS)
¢. Chamberlain Theory of Monopolistic Competition.

Page 2 of 2



& |, UNIVERSITY OF THE PUNJAB

M.A./M.Sc. Part—1 Supply — 2020 & Annual — 2021 : RollNo. ................
Subject: Economics

Paper: If (Macroeconomic Theory) Time: 3 Hrs.  Marks: 100

NOTE: Attempt any FOUR questions. All questions carry equal marks
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Q No: 1 (a) What is the random walk model? Explain, 12/

(b) How does the real business cycle theory explain the role of external shocks in producing
cyclical fluctuation? 12/%

ot = WS ol (e o A4 S Random walk (1)
oS Caliiay (S 0 S S S pla o e I3y A5 (oS ~p ki e S Sy lad ()

.alli}

Q No: 2'(a) Define and drive the LM curve mathematically and graphically. 12/—

(b) Discuss the factors that shift the LM curve. 1271

S SIRAE 1 oy Rt 15 s e S i)

WSSy pdde My S s IS WS4 S il (o)
Q No: 3 (a) Explain the endogenous growth model, 12/

(b) Compare it with Solow growth model. lﬂl

S alie y S e Endogenous Growth (1)

S a ) e SO gl ()
Q No: 4 (a) What is crowding out? What causes crowding out? In the face of substantial crowding
explain whether fiscal policy or monetary policy will be more effective? 1271

(b) What is inside-lag and out-side lag? Evaluate the argument that monetary policy should
be determined by a rule rather than discretion. 12/-!»

- S5 gt palS e gl ﬁ:‘ﬁmwunﬁ-'wdﬁcﬂsswu&ui o8 S Sy Ky £ (1)
il 535 52 o e Uiy ol émuﬁu-ﬂ-w.u A A LS e nily gm0 ()
i) o iy il L iy
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Q No: § (a) Explain the Tobin’s Q theory. 12/ %

(b) Discuss the role regarding the level of investment in the economy. 12112-
S Cmluny S 5 a8 388 08 (1)

Ol 1S g g RS Sl e D S pdes S IS e e e Ciina ()

Q No: 6 (a) Drive the Keynesian Aggregate Supply curve when wages are Rigid. 12/-;-

(b) Derive the Aggregate supply curve, when wages are Flexible. 12/-;—

S B S0 ) Jed 0 gapa oS U 3 S et kel 2 ()
QLA Sl o pana S SIS CaaS S Cpl UKel ()

Q No: 7 (a) Given the following data for an Economy: 25
€ = 200 + 0.75 Y+

T=02Y
G =200
M% = 0.5Y — 757
I = %00 - 50i
M* =900
Drive Equilibrium for IS, LM
(b) Find Equilibrium values of Y and i.

(c) Calcutate C,S, and I

(d) I G is increased to 350 from 200 and M* to 1000 form 900, compute the change in income and
interest rate.
QLAY ot S Jo g ik i 3 et (D)
QLS ptan e (S 3900 £ 38 1sh (3l a K(w)
L Gl S SIS ey g Capy s (7)

b2 o oF o g 3y S MG et geash ) oS 23 251 e 9 s 90 OOF A s S g Sl skl S K1)
QLS prlae Ul S o g g (et

Page 2 of 2




~ UNIVERSITY OF THE PUNJAB
M.A/M.Sc. Part—1_Supply — 2020 & Annual —2021 &, RollNo................. :

Subject: Economics Paper: lll (Mathematical Economics) Time: 3 Hrs. Marks: 100

Note: Attempt any FOUR questions. Scientific Calculator is allowed.

1. a)  Differentiate the following: (4,4,4)
i. Increasing and Decreasing Function
i, Exponential and Logarithmic Function
iii. Linear and Quadratic Function
b) Given the following model: (4,3,6)
Y=C+I
C=Co+bY, I=lo+aY
Where Co = 65, TIo=170, b=06and a=02

i. Find the reduced form of National Income Determination model.
fi. Find the numerical value of equilibrium level of income Ye.
ifi. Find the numerical values of C and I

2. 3) Define the following with examples. 3.3,3)
i Null Matrix
iii. Identity Matrix
iit.  Diagonal Matrix

b) Given the following function: 8,8
Z=X-3Y-XY subjectto X+Y=6

i Find the critical values of X and Y using Lagrangian Multiplier Method.
fi. Use Bordered Hessian Determinant to check the 2™ order condition.

3. AProducerwhoscllsagw@hhwodiﬂ'erentmarkets,candiscﬂminatebetween
the two markets for its product, has the following demand functions: (10,10,5)
Q;=21-01P
Qz = 50 - 04 Pz
And the total cost function is
C=2000+10Q where Q=@ + Q2
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i What will be the price charged by the producer to maximize profit with
price discrimination between the two markets?

ii.  What will be the price charged by the produzer to maximize profit without
price discrimination between the two markets?

iii. = Compare the profits of the producer with price discrimination and without

price discrimination.
4. a) Write the properties of Inverse of Matrix. (13)
b) Given Q=100-2P+0.02 Y, (6,6)
Where Q is Quantity demanded, P is the price and Y is income and given
P=20,and Y = 5000
i Find Price Elasticity of demand.
ii. Find Income elasticity of demand
5. a) Use Cramer’s Rule to solve the following equation systems. (8)
3x,-2%,=6
2x, +x;=11
b) Given the following matrix of technical coefficients A and final demand vector B.
an
02 03 02 100
A=|04 01 0.2}, B= |50
01 03 O 60
Find the correct level of output for three industries.
6. a) Explain the concept of slack variable and surplus variable with example. (10)
b) Solve the following linear programming problem through graphical approach.
Maximize the function x=20x; +10x; (15)
Subject to 4% +3x; < 48
3x, +5x,< 60
% <9 (%1,2%220)
7. Write short note on any two of the following: (12%,121)

i. Cobb Douglas Production Function
ii. Concept of Maxima, Minima and its use in Economics
iii. Leontief Input Output Analysis
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Subject: Economics Paper: IV (Statistics for Economists) Time: 3 Hrs.  Marks: 100
Note: Attempt any FOUR questions. Scientific Calculator is allowed.
Q.1 a) Differentiate between: {3*5=15})
{0 Univariate and Bivariate Data
(i) Descriptive and Inferentlal Statistics
(i) Qualitative and Quantitative Data
(v} Measure of Central Tendency and Measures of Dispersion
{(v) Box Plot and Histogram
b) Calculate geometric and the harmonic means for the distribution given below: (10)
[. Weekly Income 35-39 40-44 45-49 50-54 55-59 60-64 65-69
|5 No. of Workers 15 13 17 29 11 10 5

Q.2

a)

The probabity that a man will be alive in 25 years ks 3/5, and the prabability that his wife will be

alive in 25 years Is 2/3. Find the probabllity that (i) both will be afive, (1i) only the man will be alive, (iti) only the wife

. will be alive, (iv) at least one wiil be alive and (v) neither will be alive in 25 years. (13)
b) Define the following y {3*4=12)
{1 Mutuatly Exclusivé dhd Exfiadstive Events
{it) Law of Complementation
{iil) Conditional Probability
{iv) Random Experiment, a sample space and an event
¢ X a) Differentlate between multiple correlation and partlal correlation. (05)
b) Differertiate between coefficient of multiple determination and multiple correlation.  (05)
38 c) A statistician wants to predict the incomes of restaurants using two independent varlables: the
number of employees and the floor area of the restaurant. He collected the foliowing data. {15)
" Income (in thousands) 30 2 16 12 10 7 4
Floor area (000 sq. ft) 10 5 10 8 5 3 2
No. of Employees 15 8 12 9 12 7 10
{H Fit a least square equation of income on Tloor area and number of employees
{1} interpret the results
{ili) Predict the Income of a restaurant with 7 thousand square feet area and 8 employees.
a4 a} Define the normal distribution and obtain its mean and variance. (05)
b} show that for the normal distribution, the mean, mode and the median are same. (05)
P.T.O.
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fraction of the sales will require replacement? (15)
Qs a) Explain briefly the meaning and purpose of moving averages. (05)
b) What is forecasting? What are the different methods of forecasting? (07)
o} Obtain the seasonal indices for the data given below using the link relative method. (13)
Year Quarters
i il ] v
' 2000 71 89 106 78
2001 71 90 108 79
2002 73 91 111 81
2003 76 97 122 89
‘Q.6 a) What is an estimator? How estimator is different from an estimate? (06)
b) Briefly explain the difference between the following terms: (09)
(h Null and Alternative hypothesis
(i) Sample frame and sample Design
(iii) T-test and Z-test
¢ Given the following ANOVA table; (10)
Source ' DF ss MS F-stat
. Regression 1 1000
Error "
Total 14 1500
(i) Complete the ANOVA
()] Determine the standard error of estimation and interpret it.
Q.7 Write short notes on any three of the following: (25)

L. P-value in hypothesis testing
il.  Sampling and its different types

i
v

Chi-square test
Properties of Normal and Binomial distribution
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NOTE: Attempt any FOUR questions. All questions carry equal marks.
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Q.1.a) What is the role of Islamic Economics in modern era? (12%%)
b) Discuss convergent and divergent dimensions of Islamic and Socialist (12%)
Economy.

?c‘_Jb/,Lc‘/If:.a_lﬁlrdLVquman ) Ay

SIS s B L et ey S (L)
Q.2.a) How does a consumer achieve equilibrium in Islamic perspective? (12%%)
b) Describe the business ethics in Islamic perspective. (12%)

S (S SIS Shoiett f aigit () Al
S P B GBSk ()

Q.3.a) Discuss a firm's behavior under perfect competition in Islamic frame (13)
work.

b) Discuss Modarba and Musharka and elaborate the rules of Modarba and (12)
Musharka

-g)_‘/d_b’J)l;4fj)’L()u”(JL.Lti'nd"{u-fd/»#/.du’l N AU
-q/ug;..d:"”-f:,%lLuw?‘anfg:_l;w-m,;w (W)

Q4. Write a comprehensive note on the superiority of Islamic Economic (25)
System over Capitalism.

-Jfaub)?@lgugl/?d}/.(!rwjUib”dﬂf’f/_:djl),:l./ o A iy
Q.5.a) Define Riba and give the economic rationale for prohibition of Riba (15)
(interest) in Islam.
b) Explain the salient features of islamic Banking. (10)

_;,,pJupn@wi&ﬁvd’w:rwu,u/yu,&wld’(m)p (L) 0L
-@/@?U:JayﬁugquJﬁgdWi ()

Q.6.a) Discuss the objectives of monetary policy in an Islamic economy. (12%2)
b) In Islamic frame work how Central Bank performs its functions? (12%2)

S e LS A2 G () Ay

_.f_lg)(tg"l/lejz_:_ic);f(_.@df/ufqﬁ;é}dw ()
Q.7.a) Write comprehensive note on any TWO of the following. (12%2)
a) Bai Murabaha (12%%)
b) Islam and Economic Planning
c) Contribution of Ibne Khaldoon in Istamic Economics

-J.'.J.LJM/,»JC_JJ_EGJJ :4;}1)!:’
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Subject: Economics Paper: VI (Major Issues in Pakistan Economy) Time: 2 Hrs.

Marks: 50

NOTE: Answer THREE questions in all including question # 4 which is compulsory.
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Q.1

Q.2

Q.3.

Q.4.

(a)
(b)

(a)
(b)

(a)
(b)
(c)

Discuss the various approaches to measure poverty.
Define poverty indicators based on the approaches mentioned in part “a”.

LI e L LS Pede s (L)
_q/_.y/"ka:cléq}/?;l_f‘zJuig.Zéugut"Jl".ﬁ ()

Agricuiture is said complimentary sector of industry. Discuss it.
How can we make agriculture sector as engine of economic growth?

-‘J_‘/'/.;')Ll'jJ,cxﬁ&'-fu_l(J)LWJsloflJJ (ih)
_‘Lﬂlgglad_/wflbﬁ};fwfuw ()

Discuss the structure of Public debt in Pakistan.
Which factors are responsible for its current rising trend? Discuss it.

et SUP I e, ()

GG e L st nz L ss ) (<)
Write detailed note on TWO of the following topics:

Trade Performance and its instability in Pakistan
Resource mobilization efforts and its impact in Pakistan

Budget Deficit and inflation in Pakistan
T L i
(1p b1 §o GG el ()
mﬁnéwu:ul.:@mf:’ JS“Resource Mobilization” ()
TP e N ()

(07)
(08)

1A Ny

(07)
(08)
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(07)
(08)

i

(10+10)
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